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ULCONn Bit Description T Initial State
Reserved [31:7] | Reserved
Infrared Mode [6) Determinas whether fo use the Infrared mode.

0 = Mormal mode operation
1 = Infrared To/Rx mode

Parity Mode [5:3) | Specifies the type of parity generation to hupmmad and 000
checking during UART transmit and

Number of Stop (2]
Bit

Word Length {1:0

ImmhEﬂﬁﬁ#£¥ﬁ+ﬁiﬁﬁﬁ%ﬁﬁﬁﬂﬂﬁ SHEFECE. SRRk
{HHE.



UCONRn

Description

[31:21)

Resenad

Tx DMA Burst

[20]

Tx DMA Burst Size

0 = 1 byte (Single)
1 = 4 bytes

(19:17]

Reserad

Rx DMA Burst
Size

[1€]

Rt DMA, Burst Size

0= 1 byte (Single)
1=4 bytes

Resarved

[15:11]

Reserved

Clock Selection

(o]

Selects PCLK or SCLK_UART (from Clock Controller) clock for
the UART baud rate.

0=PCLK: DIV _VAL1)=[PCLK /(bps x 16) ) -1
1=SCLK_UART:  DIV_VAL1) = (SCLK_UART / (bps x 16) ) -1

Tx Interrupt Type

@

Interrupt request type.t2)

0 = Pulse (Inferrupt is requested when the Tx buffer is empty in
the Non-FIFO mode or when it reaches Tx FIFO Trigger Level in
the FIFO mode.)

1 = Level (Intarmupt is requested when Tx buffer is empty in the
MNon-FIF O mode or when it reaches Tx FIFO Trigger Level in the
FIFO mode.)

Rx Interrupt Type

Interrupt request type. (2)

0 = Pulsa (Interrupt is requested when instant Rx buffer receives
datain the Non-FIFO mode or when it reaches Rx FIFO Trigger
Level in the FIFO mode.)

1 =Leval (Interrupt is requestad when Rx buffar is receiving data
in the Mon-FIFO mode or when it reaches Rx FIFO Trigger Level
in the FIFO mode.)

Rx Time Out
Enable

Enables/ Disables Rix time-out interrupts if UART FIFO is
anabled. The intefrupt 5 a recahe intemupt.

0 = Disables

1 = Enables

Rx Error Status
Intenrupt Enatde

6]

Enables the UART to generate an intermupt upon an axception,
such as a break, frame efmor, parity @mor, oF OVerTun &mor during
a recaive operation.

0 = Does not generate receive amor status intermupt,

1 = Ganerates receie amor status intemrupt.




UFCONn Bit Description Initial State
Reserved [31:11] | Reserved 0
Tx FIFO Triggar | [10:8] | Determinas the trigger kevel of Tx FIFO. If data count of Tx FIFO is 000
Level less than or equal to the tigger level, Tx intermupt oceurs.
[Channel 0]
000 = 0 byte 001.= 32 byles
010 = 64 bytes 011 = 96 byles
100 = 128 bytes 101 = 160 bytas
110 = 192 bytes 111 = 224 bytes
[Channel 1]
000 = 0 byte 001 = B bytes
010 = 16 bytes 011 = 24 bytes
100 = 32 bytes 101 = 40 bytes
110 = 48 bytes 111 = 56 byles
[Channel 2, 3]
000 =0 byte 001 = 2 bytes
010 = 4 bytes 011 = 6 bytes
100 = 8 bytes 101 = 10 bytes
110 =12 bytes 111 = 14 byles
Reserved M Resenved 1]
Rx FIFO Trigger | [6:4] | Determines the trigger level of Rx FIFO. If data count of Rx FIFO 000
Lewel s mone than or equal to the trigger level, Rx interrupt occurs.
[Channel 0]
000 = 32 byte 001 = 64 byles
010 = 96 bytes 011 = 128 byles
100 = 160 bytes 101 = 192 bytes
110 = 224 bytes 111 = 256 bytes
[Channel 1]
000 = 8 byta 001 = 16 bytes
010 = 24 bytes 011 = 32 bytes
100 = 40 bytes 101 = 48 byles
110 = 56 bytes 111 = 64 byles
UFCONn & 17 2% 5= 8 H T RS FEdic gl b < i . FIFO B @ fE.
UCONN Bit Description nitial State | j *g
Loop-back Mode | [5] | Setting loop-back bit to 1 trigger the UART to enter the loop-back”’| * =g # -
mode. This mode is provided for test purposes only. miax |_:, 00 k ] ] tj com
0 = Mormal operation bl mr dan
1 = Loop-back mode ) -
Send Break [4] Setting this bit trigger the UART to send a break during 1 frame 0
Signal time. This bit is automatically cleared after sending the break
signal.
0 = Mormal transmit
1 = Sends the break signal
Transmit Mode [3:2] | Determines which function is able to write Tx data to the UART 00
transmit buffer register.
00 = Disables
01 = Interrupt request or polling mode
10 = DMA mode
11 = Reserved
Receive Mode [1:0] | Determines which function is able to read data from UART 00
receive buffer register.
00 = Disables
01 = Interrupt request or polling mode
10 = DMA mode
11 = Reserved




Description

[Channel 2, 3]
000 = 2 byta

010 = 6 bytes
100 = 10 byles
110 = 14 bytes

001 = 4 byles
011 = 8 bytes
101 = 12 bytes
111 = 16 byles

Resarved

(3

-

Tx FIFO Resol

Auto-clears after resatting FIFO
0 = Normal
1 = Tx FIFO reset

Rx FIFO Reset

1

Auto-clears after resetting FIFO

0 = Normal
1 = Rx FIFD resot

FIFO Enable

[0

0 = Disables
1 = Enablas

UTRSTSTn 7 {Fas 1H

HF AR OMRERNE.

UTRSTATn

Description

Resarved

[31:3)

Resarved

Transmitter ampty

2

0= Not
1=Tmmmhmmmﬂ
ampty

Transmit buffer
amply

(1

r.m "t.d f.-:;.
In FIFO mode, Inmwm__.m s
FIFO Trigger Level is set to 00 (Empty))

If UART uses FIFO, check Tx FIFO Count bits and Tx FIFO Full bit
in UFSTAT register i‘iﬂnddmh bit.

Rocoive buffer
data ready

valid data, medndwmm RXDOn port,
0 = Buffar regisher s ampty
1 = Buffer register has a received data
(In Nori-FIFQ maode, Interrupt or DMA is requested)
J!'UAR'.[" the FIFO, check Rx FIFO Count bits and Rx FIFO

Full bt Fsm*rmgumrmadafmm

UERSTATn # {78 F EH HRER OERTE.




UERSTATn Bit Description Initial State
Reserved [31:4] | Reserved 1]
Break Detect [3] | This bitis automatically set to 1 to indicate thal a break signal has 0
been recaived
0 = No break signal is received A s
1 = Break signal is received (Interrupt is reqUested.) ] K*é
Frama Emor [2] | This bit is automatically set to 1 if a frame.ermor occurs during the h
receive operation. max.boolq118.com
0 = No frame emor occurs during the retaive oparation ik S ks — R TS EE Tk
1 = Frame error occurs (Interrupt is requested.) during the receive
operation
Parity Error [1] | This bit is automatically set 1o 1ia parity emor occurs during the 0
receive operation.
0 = No parity error oocUrs dufing receive the receive operation
1 = Parity @rror occurs {Interrupt is requested.) the receive
operation
Overrun Emor [0] | This bit is automatically set to 1 automatically if an overrun emor 0
octurs during the receive operation,
0 = No ovarmun emor accurs during the recaive operation
1 = Overnun ermor occurs (Interupt is requested.) during the
recaive operation
UTXHn Fl URXHn #F 72855 5 8 A% 37 7 28 IR Ay 7 8.
UTXHn Bit Description Initial State
Resorved [31:8) | Reserved
UTHHn [7:0} | Transmil data for UARTR
URXHn Bit Description Initial State
Roserad {31:8] | Resarved 0
URXHn [7:0] | Receive datafor UARTR 000
M. et

1. RS-232 [R¥, iHiEH HirERMEXTH .
2. WAFEE GEMEREEER)
Cstdio. h>

#include

<stdlib. h>
<unistd. h>
{sys/stat. h>
<fentl. hi
{gye/ioctl. h>
{errno. h>
{string. h>
<termios. h»

#include
#include
#include
#include
#include
#include
#include
#include

#define max(x, v) (((nt)(x) > {int) (¥)) ? x :

#define TRUE 1
#define FALSE 0

y)



static char *serial_name[1={"/dev/s3c2410_serial3”};

static struct timeval timeout={3,0}:

static struet termios oldtio_r, oldtio_w:

int speed_arr[] = {B115200, B57600, B38400, B19200,

B9600, B4800, B2400, B1200, B300,
B38400, B19200, B9600, B4800,
B2400, B1200, B300, }:

int name_arr[] = {115200, 57600, 38400, 19200,

9600, 4800, 2400, 1200, 300,
38400, 19200, 9600, 4800, 2400,
1200, 300, }:

void set_speed(int fd, int speed)

{
int
int

i;
status;

struet termios  Opt;
tegetattr (fd, &0pt):

for

}

Jk
#brief
#=param
#@param
#param
#param
*/

( i= 0: i < sizeof(speed_arr) / sizeof(int); i++){
if (speed = name_arr[il) {
teflush(fd, TCIOFLUSH) ;
cfsetispeed (kOpt, speed_arr[i]);
cfsetospeed (&k0pt, speed_arr[i]);
status = tesetattr(fd, TCSANOW, &0pt):
if (status !'= 0){
perror ("tesetattr fdl17):

}

[REl71 X145

) max.book118.com
RS RO 3, T AR
teflush (fd, TCIOFLUSH) ;

ANk ¢ M T L R A

fd P int  FTIFRIE OOCHAREE
databits 2R int ¥EEr  HUH 4 7 R 8
stopbits 258 int fEibfr  HUEH 1 2HiE 2%
parity FH int 4R E{EHNEO0,,S

int set_Parity(int fd, int databits, int stopbits, int paritv)

{

struct termios options:



if ( tegetatir{ fd, &options) != 0) {
perror ("SetupSerial 17);
return (FALSE) ;
}
options. ¢_cflag &= "CSIZE:
switeh (databits) {
case 7:
options. ¢_cflag |= CST:
break;
case B:
options. ¢_cflag |= CS8:
break;
default:
fprintf (stderr, "Unsupported data size'\n"):
return (FALSE):
}
switch (parity){

case ‘'n’:

case N :
options. c_cflag &= “PARENB; /* Clear parity enable %/
options. ¢_iflag &= "INPCK: /* Enable parity checking */

options. ¢_iflag &= ~(ICRNL|IGNCR) ;
options. e_lflag & ~(ICANON );
break;
case "o :
case 0" :
options. c_cflag |= (PARODD | PARENB) : /+ {55 h&H8s/
options. ¢_iflag |= INPCK: /# Disnable parity
checking */
break;
case e :
case "E':
options. ¢_cflag |= PARENB: /* Enable parity */
options. c_cflag &= “PARODD;  /* 3 h{E G/
options. ¢_iflag |= INPCK: /* Disnable parity checking */
break;
case "8 :
case '8 : f#as no paritve/
options. ¢_cflag &= “PARENB;
options. ¢_cflag &= “CSTOPB:
break;
default:
fprintf(stderr, "Unsupported parity\n”);
return (FALSE):



}
[ EEF IR/
switch (stopbits) {
case 1:
options. ¢_cflag &= ~CSTOPB;
break;
case 2:
options. ¢_cflag |= CSTOPB:
break;
default:
fprintf(stderr, "Unsupported stop bits\n™);
return (FALSE) ;
}
/% Set input parity option #/
if (parity !="n" )|
options. ¢c_iflag |= INPCK:

options. c_cc[VTIME] = 150; // 15 seconds & (E]
options. c_cc[VMIN] = 0; /7B EHUE

teflush(fd, TCIOFLUSH) ; /#* Update the options and do it NOW =/
if (tesetattr (fd, TCSANOW, Loptions) != 0) {
perror (“SetupSerial 37);
return (FALSE);
}
return (TRUE);

int OpenDev (char *Dev)

int fd = open( Dev, O_RDWR | O_NOCTTY | O_NDELAY); /7] 0_NOCTTY
0_NDELAY
if (fd <0){

perror {"Can’ t Open Serial Port™);
exit (EXIT_FAILURE) ;

return fd;

int serial write(int fd)

{

char buf[]={"this is vart test\n"};



1
1
!
1
I
1
1

int ret ;

memset (buf, 0, sizeof(buf)):
printf ("write serial:\n");
fgets(buf , 256, stdin);

if (!stremp(buf, “quit™)) { //HA quit iE IR

printf ("good bye\n");
return FALSE;
)

if (teflush(fd, TCIOFLUSH)<0) {  //iS<F B O MNEK

fprintf(stderr, "teflush error\n™);

}

ret = write(fd , buf , strlen(buf)); //5H50

if(ret <0){
perror ( write serial”);
exit (EXIT_FAILURE) ;
]
Siwrite(fd , "\n\D", 2);
S/printf ("write wart\n”);

return TRUE;

void serial read(int fd )

{

#if

int ret ;

int len= 0;

char buf[256];

memset (buf , 0, 256);

ret = read(fd , buf , 256); //iEE($ 0
if(ret<0) {
perror(“read”) ;
exit (EXIT FAILURE) ;
}
0
while (D) {
ret = read(fd , buf , 256);

if(ret ===1 && errno = EINTR) {
continue;

}
else if(ret <0){
perror (“read serial”);

[REl71 X145
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exit (EXIT_FAILURE) ;

}
else if(ret ==0) {
break;
}
else(
printf{"receive %s \n”, buf) ;
}

}
fendif
Slprintf ("%d\n", ret) ;

printf{"read serial: %s \n", buf);
if (teflush(fd, TCIOFLUSH) <0) { //iE5S 8 DM

fprintf (stderr, "flush error\n”):

}

return ;

void serial_config(int fd)

{
set_speed(fd, 115200) ; //1Z ®W %53 baud rate

if (!set_Parity(fd,8,1,"N)) {
printf("Set Parity Error\n”);
exit (EXIT_FAILURE)

}

return |

int main(void)

int fd r , fd w:
int 1 ;

int ret ;

char ch ;

fd _set readfds;

fd_w = OpenDev(serial name[01); //4TFF £0
tegetattr (fd w, &oldtio w);
serial_config(fd_w);

/f fentl{fd_r, F_SETFL, F _UNLCK): // Non—blocking read



